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PHYS 1443 – Section 003
Lecture #10

•Exam review
•Newton’s Law of Gravitation
•Kepler’s Laws

Wednesday,Oct. 1, 2003
Dr. Jaehoon Yu

No homework today!!

Homework #5 deadline extended till noon, next Wednesday, Oct. 10!!
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Exam Results
• Class average: 53
• Top score: 90.5
• Remember that

– There are three exams of which two bests are used for final 
grade

– Each exam accounts for 25% è 50% total
• Other factors

– Lab: 20%
– Homework: 15%
– Quiz: 15%
– Extra credits: 10%

• Final grades will be assigned on a sliding scale
• Exam can be easily made up by other credits
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Exam problems 14 – 18 
A 5 kg block is placed on a frictionless inclined plane of angle 30o and 
pushed up the plane with a horizontal force of magnitude 30 N. 

14. Draw a free-body diagram for this motion.
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16. What are the direction and magnitude of block’s acceleration?
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Thus the block’s acceleration is up the incline. The magnitude is
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17. What is the magnitude of force exerted on the plane by the block? 

Since this force is the same magnitude as the normal force but opposite direction, 
one can obtain the magnitude from y-component of the net force
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18. What is the smallest horizontal force needed to move the block 
up the plane? 

In order for the block to be pushed up the plane, the component of the horizontal force 
up along the plane must overcome the component of the gravitational force downward.
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